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GCSE Mathematics
Practice Tests: Set 9

Paper 1F (Non-calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

e Use black ink or ball-point pen.

e Fill in the boxes at the top of this page with your name,
centre number and candidate number.

¢ Answer all questions.

e Answer the questions in the spaces provided
— there may be more space than you need.

o Calculators may be used.

e Diagrams are NOT accurately drawn, unless otherwise indicated.
You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice
e Read each question carefully before you start to answer it.
e Keep an eye on the time.
e Try to answer every question.
e Check your answers if you have time at the end.
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Answer ALL questions.

Write your answers in the spaces provided. CU\\.PQJ‘Jr\\fg ‘:FDP

You must write down all the stages in your working.

<7
. 4 : Y
1 Write — as a decimal.
5 4 _ % - 8 reatas
.S-______: \O v b - I
y S 15 -0.%

(Total for Question 1 is 1 mark)

Eqmivalad Frackions
2 Write — as a fraction in its simplest form.
45 e
—_
B - &
s 9
"\-S.'_-3 .......................................................
=5 (Total for Question 2 is 1 mark)
3 Write these decimals in order of size. QrMLf?) De covwvads
4.81 4.013 4.85 4.807 4.02
Start with the smallest decimal. e 1O
art with the smallest decima $.012
%.€S0
& 207
020
.03 u.0Z, b.FF, 41,485 W

(Total for Question 3 is 1 mark)

4 Find the sum of ;—3 and 0.72.

Ccnwh\'rﬁ FDP

Give your answer as a decimal.

— = |
(f=
(+2) 2— =oo%
1o

() "7_30 = 0-65

| 27
yﬁ_ek__d 0.65_+

-T2
T

(Total for Question 4 is 2 marks)
3T
—_—
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5  The table gives information about the weights, in kilograms, of five animals.

Animal Weight in kilograms
African buffalo 725
Indian elephant 3178
Giraffe 800
Pilot whale 2205
Walrus 1013
1
(¢} Which animal has the least weight? [ +erfrea ) Tk S
............. AMencen., Reoblals
1
(by Write down the value of the 1 in the number 3178. P ece Vel
L .o N,
1
(¢) Work out the difference between 2205 and 1013, Swbwoeh o
e T\ RVE, §
LY
A S

A — ( 1)

The weight of a blue whale is 20 times the weight of the giraffe.

(d) Work out the weight of the blue whale. vex hﬁ LS

Give your answer in tonnes,
1 torne = 1000 kg

Graffe = OOVeoy
Guodfe (xeo)zubel] whale. = 20 §OO WY & .
onnes

whale = lG:cDOOLc.S 2

(Total for Question 5 is 5 marks)

l tove = oo
( comvert-'ogy %1000) whode = L& Eovmas

ov——rre
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Pormake o 10 Snags

6 A field is in the shape of a rectangle. D
The width of the field is 70 m. '
The length of the field is 100 m. FQn FOMm
Fafa walks around the edge of the field 3 times.
) | OO
Work out the total distance Fafa walks.

Perm anad ? = IO m T TFOMm O HEON. = BALOm

%Qg -
= 1D 6020
—_— L
Yy ¥s)

(Total for Question 6 is 3 marks)
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7

Here is a rectangle A made from centimetre squares.

rectangle A

(a) What fraction of rectangle A is shaded?

“Wowrof 15" = X

Rectangle B is made from centimetre squares.

rectangle B

(b) Shade 40% of rectangle B.

hich T

100 \O

(1)
(Total for Question 7 is 2 marks)
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8 A4, Band C are three points marked on a grid.

j,:-;g yA
-5
B
4 /\
3 N
/ N
A
o/,
/’\ 4
. A | 1,
-5 4 3 -2 -1 0 2/ 3 4 5x
-1
—2
._3 !
e e TR N — __-_,_.-.,..,..mj:_,._m |
| _5 |
(a) On the grid, draw the line with equation x = —3.
Label the line L.
1)
M is the midpoint of 4B. (DC ‘3) .
(b) Find the coordinates of M. N’\W ‘4’ Cccrd-m
A=(w.2) , B=(14)
- g
‘ _ —fart Lt = [2
Mnd-mu/\)l' (x.+xz , ‘3“\—-&1_) (—'—,2— i -—'—_'2-') ( =2 )
2 — (7 . N, S )
2)
D is the point so that ABCD is a square.
(¢) Find the coordinates of D.
DIS S'C\W-Q—d‘“smq ‘F(CM Ceas 2. _—
; . R A R e T )
A s frem B2 gt Yelown @)

(Total for Question 8 is 5 marks)
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Forchon Mochines

Here is a number machine.

input ——» x4 e -8 —— output

(@) Work out the output when the input is 18.
1§ — _—D =&
= F2 = P,

(b) Work out the input when the output is 20.
opposial,
-— -q—— proees 2 g ............................... —7—_. ................

Here 1s a different number machine.

input ——p x5  — +% ————» output

For this number machine, when the input is 8 the output is 50

(¢) Work out the value of x.
Mecnre. xS t2C = O
4 + x =380

(-wo) x =10

(Total for Question 9 is 5 marks)
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10
castew pistachiio
walat walnut
cashew waldut

Wd

wglmf

Rer ond Tauhy ChartS

almend

(a) Complete the frequency table for Caterina’s list.

Here is a list of all the nut trees Caterina counted one day.

pistachio
walnut
waladt

W

gsr,ach/ic'y
walfiut

Nut tree Tally Frequency
cashew (i L
walnut et -
almond Lt s
pistachio (18N '—f'

(b) Draw a bar chart for the information in your table.

- RV E s

(Total for Question 10 is 5 marks)

(2)
e 3
| : |
| ‘
B 7R |
i 7 "—“\ |
| ar N |
7, N |
7 i |
Py s v |
b
\ ¥
V7
3 3)
2
<r
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Siv\ying HaRloic ExprasSin

11 (a) Simplify yxyxy

(1)
(b) Simplify 3c x 2d
= AqccxLxd

Ecd
=

1)
(¢) Simplify 2k—4k+ 3k

2lcks “\loes +R oS = | ot

(Total for Question 11 is 3 marks)
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12  The table shows the temperatures at midnight and at midday at five ski resorts.

Ski resort Temperature at midnight (°C) | Temperature at midday (°C)
Chamonix =5 3
Alto Campoo -8 —2
Javornik =5 —4
La Parva —2 -2
Asiago =7 0

(a) Which ski resort had the lowest temperature at midnight?

e Campoe
(1)
(b) Work out the increase in temperature from midnight to midday for Chamonix.
Afference!
;— =-S5 =8
M-‘cﬂaﬁ midaging
______________________________________ & e C
(1)

Jan knows that the temperature falls by 1 °C for every 300 m increase in height above Asiago.

(¢) What was the temperature at midnight at a height 1800 m above Asiago?

6 %I1°C. = 6°C ftak
- .4 - -2C B o

(Total for Question 12 is 4 marks)
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Sings G Proboiai iy

There are 20 counters in bag X.

7 of the counters are green.

10 of the counters are red.

The rest of the counters are blue.
Ruth takes at random a counter from bag X.
(a) Write down the probability that the counter is red.

|
PGeN="Douret 20" = 12 = L =
== . TS
- 1)
(b) Work out the probability that the counter is blue.
= =X =2 = B
ploive) = 1= —2 =2 _
e
SLW\.C&{' CUU ‘: 1\ T ’LO

Ruth puts the counter back into bag X.
Bag Y only contains green counters, red counters and blue counters.
In bag Y there are,

2 more green counters than in bag X

1 more red counter than in bag X

2 more blue counters than in bag X
Adam takes at random a counter from bag Y.
Ruth takes at random a counter from bag X.
(¢) Who has the greater probability of taking a green counter, Adam or Ruth?

Show your working clearly.
0
P(Cﬂ-%) fr/‘Pmew: Hx.sbaxgkod: 0\3,4@\
= 4. =036 llreq  TSiohy
<~
z S blwe

' Adom hes M\jm&—ef‘ Prbbc\bxl})& —P&r&m O58 > ons.,

(3)
(Total for Question 13 is 5 marks)
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(F“""”‘f) oni Sb\,w:r\ﬂ ("jq}v\a‘hb\%

Diagram NOT
accurately drawn

ABC is a straight line.
Work out the value of x.

‘ ‘ . .
i+ = 180° | Arglas wn shaugid-lne =20
¥
25 trul= &S | cotslks
- o 2. /5%
Z')C_. :SGO ('—(’LLG« )

2 o= b

(Total for Question 14 is 3 marks)

15 Show that % = l -3

L1 (Crowchon Cpredn s

e
Lemof & cndk =24 F =z
& = <M
4 lb@ 5
€ 2L \'& _‘__fi:b <
b__a "?_.—L-(-a
w e
> A s Bbl . = R
?—_b T 2 24t C]—

(Total for Question 15 is 2 marks)
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16 y=c—dx

c=15

d=28

x=—4

(@) Work out the value of y.
'j = C—d=C
SwesHhte [ Y = (1S) NOEYH

he Sl e e A

b = L-k’?_ J?z L{_‘q_ ......
t=4(p —q)
t=18
g=06
(b) Work out the value of p.
E=w(p-9)
Suleshiute 18 =L-(P—£)
Expendl L s |
(Hoy) W2 =
=Ly L_ﬁ}_ — = I0-8
(=) gt 4
-ﬁ-
ek O S i
(2)

(Total for Question 16 is 4 marks)
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(‘\'\;\Q_a_ (:J"r b D < \~o. ﬁ’m’]g
Answer ALL questions.
Werite your answers in the spaces provided.

You must write down all the stages in your working,

1 Here is a hexagon ABCDEF.

l6em
e D
|| 0\ Diagram NOT
M lO  accurately drawn
/
X N
. i24cm
14cm @) l4em
l | i uj l
20cm
CD is parallel to AF.
Work out the area of hexagon ABCDEF.
G:) 'vq-wt?_(;k_(}&' ;v’“ CJ.{)QE‘Q‘ N
A= 1 (o) Az o(rec) = 1LGEE) = 1RO o
— Rl R
- 2.
e
VARTAN
T
N . Ry
@) Aeo-cfrecigt B = 20 xit = 280w
A= e
7 L A
(I“ :’} "i" @’) =TI \' %C-) Q‘(Y’\ ""“ g Z_f‘g O CV\"
Totad Ao =5
- Le SO Q‘J'\;\‘_
.................................... L.—\—@(‘: cm?

(Total for Question 1 is 4 marks)
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22 EALP
(@) Reflect triangle S in the line y = x
Label the new triangle R.

& SVaeg (—4)
(b) Translate triangle S by the vector k 6J

Label the new triangle T.

(2)

(1)

(Total for Question 2 is 3 marks)
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14 ]

13

12

11-

10

i 4

el

(Total for Question 18 is 5 marks)
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19 (a) Expand and simplify 3(c—7)+2(3¢c+4)

Bxpond | 3e-21 v bt
Colleck | 9C—(3 Q-1

—

Bpond | iox e~

Coligot | 2% +Soc 4
=

(¢) Factorise fully 282 —21y
S B e’ S Ay
(

2)
(Total for Question 19 is 6 marks)
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20 E=wtn+s Subogituhsn
(a) Work out the value of £ when n =3
E=(=)+(R)+S
- %P
i v = .. rq_ ......................................
E= I3 (1)

Ali thinks that the value of E will be a prime number for any whole number value of 7.

(b) Is Ali correct?
You must give a reason for your answer.

E=US. (\Ssnctprne (2)
(Total for Question 20 is 3 marks)
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4
A : Diagram NOT
accurately drawn
D F
ABC and DEF are parallel lines. r
BG=BE
Angle DEG = 38°
Angle GEB = 65°
Find the size of angle ABG.
0's
B B R = 2 h /rg—b
BEF=1B0-65-3F Angle.s on g—rmiblr\%— bne =\<O e &
5y ' = \ 2%
' = 43 g
0Tt

X N &
. BEF = ABE =3

E?\E‘i\’ e = 6.50

rAs & gy [a]
CaE -~ IRO-6§ 65

= J0°
= L Fa
ABC = ART ~ (BE
- —:—;7,0 - 5@“

& o

| Soscal o Awu;v\g\e_

180 % e Fioagln

Arlkemode Cng e 2Gpiod

(Total for Question 4 is 3 marks)
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22 Here are the first four terms of an arithmetic sequence.

@‘é"" 6 10 14 18

i—kP 'r"-? -t

(a) Find an expression, in terms of n, for the nth term of this sequence.

= Lent+2

—uy

(b) Write down an expression, in terms of n, for the (2 + 1)th term of this sequence.
ek A= At

S ben+r beconed ... be(ar) 42,

= Lontte +72
2 Lgr\-i-{:
................................................... ( 1)

(Total for Question 22 is 3 marks)

23 (a) Write 1 390 000 in standard form. oo\ Forma
1300 800

g =" 6
= 1.0 X LD

G PLACRY i

() Write 0.005 in standard form.

O-C0OY

SIS =Swg
Jpe@s (1)

(Total for Question 23 is 2 marks)
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Solve

Show clear algebraic working.

(D w2

(=16)

o

b L

S.‘ TV\A,LU_—CLV\Q,OU) & c‘/\}(.dp. ans

Ix+2p=15 Q:)
0x~4y=2 @

- 20 ()
oWy v ©®

Ve ¢ = B

P =

“‘iﬁ," iy = !
”L_.*i—z,,L) lS

'5(')_)4'1\.,] =%
© #"LLCJ = (5

.
Ct
[
Y
[

g(lmi’_ _|:-. HLC)})TJN( th PLM X9

3 s '-'g/ly L J OO MO,

(Total for Question 8 is 3 marks)
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